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Methods 8 9|

» Method= 5 7X| HO| M function1} CI 2L}
« method= 2 classOll &5} class HO| A ‘H 2| =l ':f
e method= 7HO|0HZ AN ERY O 7| -r(parameter =
class2| instance= Sl reference ”self”7f 101 OF SFC}
» methodE 2= & [Iff= O] O{7 A== “self” BIO| AtE

orLt
\

class Shape:
def __init_ (self, x, y):
selfx = x
selfy =y

def area(self):
return selfx * selfy

print(rectangle.area())




Methods

/class Shape: \
def __init_ (self, x, y):

selfx = x

selfy
def area(seﬁ‘)
return selfx * selfy
def perimeter(self):
return 2 * selfx + 2 * selfy

def dﬁcsdcribe(selﬁtext): >
self.description = text

def authorName(self text): 4500
selfauthor = text 200

def scaleSize(self,scale): 1125 0
selfx = selfx * scale '
selfy = selfy * scale e

rectangle = Shape(100, 45)

print(rectangle.area())

print(rectangle.perimeter())

rectangle.describe("A wide rectangle, more than twice as wide as it is tall")
rectangle.scaleSize(0.5)

Qrint(rectangle.a rea()) /
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Method
__add__(self, other)

__sub__(self, other)
__mul__(self, other)
__truediv__ (self, other)
__floordiv__(self, other)
__mod__ (self, other)
__divmod__ (self, other)
__pow__ (self, other[,modulo])
__Ishift__(self, other)

__rshift__(self, other)

Operator
+ (0]
- (0]~

*

/

//

%
divmod()
pow(), **
<<

>>

ALE o
A+B A+=B
A-B,A-=B
A*B, A*=B
A/B,A/=B
A//B,A//=B
A%B,A%=B
divmod(A, B)
Pow(A, B), A ** B
A<<B, A<<=B
A>>B, A>>=B
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Method Operator | Al2 0f
__and__(self, other) & A&B A&=B
__xor__(self, other) A ANB,AN=8B
__or__(self, other) | A|B,A|=B
__abs__(self, other) abs() abs(A)
__pos__(self, other) + (Ehah +A
__neg__(self, other) - (EF2h -A

__invert__(self, other) ~ ~A(H|E &AHAERE
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class GString:
def _init_ (self, init=None):

self.content = init

def _sub_ (self str): # - AKX SEHO
for i in str:
self.content = self.content.replace(i, ' ')
return GString(self.content)

def _abs_ (self): # 'abs’ ALK SEHHO|
return GString(self.content.upper())

def Print(self):

print(self.content) b
g = GString("ABcdefg”) ABC E G
9-9- of >>>
g = abs(g)

Q.Print() /
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AsE=X13E (1)

/class GString: \

def __init_ (self, init=None):
self.content = init

def _sub_ (self, str):
for i in str:
self.content = self.content.replace(i, ' ")
return GString(self.content)

def _abs_ (self):
return GString(self.content.upper())

def _mul__(self, int):
return GString(self.content * int)

def Print(self):

k print(self.content) /




ASE=X13E (2

4 g = GString('ABcdefg’) )
g=9”*3
g.Print()

g = GString('KMooC")

g=9g*>
g.Print()

\ -

ABcdetgABcdetgAEBCdetg
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Attributes Name
_init__

_dict__
doc__
__hame__
__module__

__bases__

% (attribute) 52 M 2|3}, class
ﬁM=°7}mf
& = (object module)0f| 2|5h x| S =l

Description

Class2| Z{X|(object)?} G| A& O HE
2 SEoIC 2K (object)E =7|=}
St= 0| =X 0|Ct,

InstanceO| Al St &8
Document reference

Class O|&

Classg T‘d5t= module O

=
| |
2= superclassE Zgtots Het
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Inherit Syntax:

*ol' —Jﬂl\— ( | N h e nta N Ce) class subclass(superclass):

ﬁass Person:

def speak(self):
print("l can speak")

class Man(Person): o
def wear(self): | can speak
print("l wear pants") S

class Woman(Person):
def wear(self):
print("l wear skirt")

man = Man()

Qan.speak() # Person.speak() /
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class Person:
def speak(self):
print("l can speak")
class Man(Person):
def wear(self):
print("l wear pants")
class Woman(Person):
def wear(self):
print("l wear skirt")
def speak(self):
print("l can speak and dance")

m = Man()

w = Woman()
m.speak()
m.wear()
w.speak()
w.wear()

~

e

| can speak

| wear pants

| can speak and dance
| wear skirt

e |




= A2|7| 25l “class Circle”& C|X}2lSIE}
* Parameter: size
* methods;: move_ x, move_y, move_Xxy

MO| Q= 2 2ol “class f_Circle”= C| X} QlSIE}
e Parameters: size, color
e Class circle2E £ E At=

2l ot7|E 2|10 JA= (x, 0022 72}
ot7fe| it = 2|1, 7= (x, y)E =7t
ot7lel 22 €2 21, aZ1= (0, y)E 7Ll




dasd 232 (1)

ﬁrom tkinter import *
import time

class Circle:

def _init_ (self, canvas):

self.canvas = canvas

self.id = canvas.create_oval(150,150,45,45)
def move_x(self, x):

selfx = x

self.canvas.move(self.id, selfx, 0)
def move_y(self, y):

selfy =y

self.canvas.move(selfid, 0, selfy)
def move_xy(selfx, y):

selfx = x

selfy =y

self.canvas.move(self.id, selfx, selfy)

ﬁontinue to..
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HdS=2823E (2)

ﬁlass f Circle(Circle):
def __init_ (self canvas, color):

self.canvas = canvas

self.id = canvas.create_oval(10,10,45,45, fill=color)

tk = Tk()

canvas = Canvas(tk, width=500, height=400, bd=0, highlightthickness=0)

canvas.pack()

circ = Circle(canvas)

bcirc = f _Circle(canvas, “blue")
rcirc = f_Circle(canvas, "pink")
canvas.pack()

circ.move_x(10)
bcirc.move_xy(150,150)
rcirc.move_y(200)
canvas.pack()
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Step 0. MA| 778

/# import modules
from tkinter import *
import random
import time

# create ball

# create paddle

# main process

.




Step 1. Create Ball 1

ﬁcreate class Ball
class Ball:

def _init_ (self, canvas, paddle, color):
self.canvas = canvas
self.paddle = paddle

self.canvas.move(self.id,245,100)
starts=[-3,-2,-1,1,2,3]

random.shuffle(starts)

self.x=starts[0]

selfy=-3
self.canvas_height=self.canvas.winfo_height()
self.canvas_width=self.canvas.winfo_width()
self.hit_bottom = False

def hit_paddle(self,pos):
paddle_pos=self.canvas.coords(self.paddle.id)
if pos[2] >= paddle_pos[0] and pos[0] <= paddle_pos[2]:

return True
return False

<

selfid = canvas.create_oval(10,10,45,45, fill=color) #ball size

if pos[3] >= paddle_pos[1] and pos[3] <= paddle_pos[3]:

/




Step 1. Create Ball 2

/def draw(self):

self.canvas.move(self.id,selfx,selfy)
pos=self.canvas.coords(self.id)
if pos[1] <= 0:
selfy=3
if pos[3] >= self.canvas_height:
self.hit_bottom = True
if selfhit_paddle(pos) == True:
selfy=-3
if pos[0] <= 0:
selfx=3
if pos[2] >= self.canvas_width:

lfx=-3
k se




Step 2. Create Paddle

[t

\_

create class paddle
class Paddle:
def __init_ (self, canvas, color):

self.canvas = canvas

selfid = canvas.create_rectangle(0,0,230,25fill=color)
self.canvas.move(self.id,200,300)

selfx=0

self.canvas_width=self.canvas.winfo_width()
self.canvas.bind_all('<KeyPress-Left>", self.turn_left)
self.canvas.bind_all('<KeyPress-Right>", self.turn_right)

def turn_left(selfevt):

selfx=-3

def turn_right(self.evt):

selfx=3

def draw(self):

self.canvas.move(self.id, selfx, 0)
pos=self.canvas.coords(self.id)
If pos[0] <= 0:
selfx=0
elif pos[2] >= self.canvas_width:
selfx=0

<

# paddle size




Step 3. Main Process

ﬂmain process
tk = Tk()

tk.title("Game")
tk.resizable(0,0)
tk.wm_attributes("-topmost", 1)

canvas.pack()
tk.update()

paddle = Paddle(canvas, 'blue’)
ball = Ball(canvas, paddle, 'pink’)

while 1:

if ball.hit_bottom == False:
ball.draw()
paddle.draw()

tk.update_idletasks()

tk.update()

time.sleep(0.07)

\_

canvas = Canvas(tk, width=500, height=400, bd=0, highlightthickness=0)

~

#show paddle
#show ball

# until ball touch bottom line

# moving speed of ball /
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